2025%2A178 K# 4R ARMBIESR+Z += +[m

RABLNRSBA = += +0 gooﬁm 59’7 l1~4-9ZE D if%gg%ég‘ 70633263282513 444 13 335 1 EE’;‘ }
= - K # 14, : ISEBIGRS 1 1 1
Y5ILy FR 3% BIE BA4L BE 1:14.8 L—2R 5y F{fE : MSS 53 MSM 46 SSS 40 SSM 31 Grant /
HER | PREN | BEMES it 3R E AR 14TE=RFMER Bk BigE (& B) ZhyvaviE B 2TE=L-28 LT 77Z MTH=#IE - FE- AK A
B F | KBAMNBZET[B ko008 B F 1200 |HTE=RAKE - & BF-T 2, 3, AABBIEE STE=IEA- 1—X - BigRE 244 EAYBF
B 26 | B 2 |EnEE/rE|m  4EuT |8 7 1000n [67H=L—R R—XEI3F - sl - #%3F HEL, NFH, S)EL\) BIE 3 FyL RBIRE 29-b~4f - 3FA~4F - #IF(5~1) LY 3 FIRR
HEEARGERES WH | £ 5 | F12008% (3 & | By e | L—ALYSFEAL - HBEOLYSFEAL > 05 OBAKT HIE=1EBEXE2EE GEE) 1. 2. SEBOWE
£E/BE Ao X | BERM | 1-3ARM| # TETFR| M % je00m i WA E 3R AFERT 5ERT
SZRAA—Z=RHE— 43 e S ggo.o.o.o F=0.0.00 25h__01.31 KH#
Q S S 58 £0.0.00 [ F 0000 | g5
/\,r t ,7- F 56.0 .390 JIIA0.0.0.0 | FP90.0.0.0
11 SHLRHZ ER TN 4 0.0.0.0 | FFEO0.0.0.0 | 489 XF&
(R917° M=9" 74 =) K 263 FH0.0.0.0 [ F750.0.0.0 | 800m & 51.4
iR 0.0.0.0 EH0.0.00 | -
(BR) A WL 0.0.0.0 | 05030580 | £3 0.0.0.0
Rya—FLIT #3 — I ﬂ7’cg0000 F=0000 25;__9%.31 X3
P - T i R4 0.0.0.0 | F 0.0.0.0 | AEER
T—Fxv b 54.0 000 JII% 0000 | 10000
2 FUTLY b AR HA0.0.00 | FH0.000 | 477 it
(R RY—FrtEVR) K 200 FEA0.0.0.0 [ F750.0.0.0 | 800m & 53.3
HARHEILI?-A 0.0.0.0 240000 [ -
B #fi— 0.0.0.0 | 304030380 | £ 0.0.0.0
FLo+> 43 = I xgo.o.o.o F=0.0.0.0 2?:._0_%.31 K+
i3] f840.0.0.0 | F 0.0.0.0 | BEEH
D‘t"’bx 54.0 .333 JIIA0.0.0.0 | FP90.0.0.0
3 RAALYa1—Tay 25 | ta A 0.0.0.0 | FH0.0.0.0 | 459 IR
(RA2L=Y7—2R) K#F 214 FA0.0.0.0 [ F70.0.0.0 [800m 4 51.3
FREKE 0.0.0.0 0000 | -
PR 0.0.0.0 | 305030580 | £ 0.0.0.0
FA—TII5oT 3|20 ©: ::: | KF0005 [F=0002 [2501.27 29 & K3 |25.01.1432 ¥ K3 [24.10.14 35 F A3 | 241001 30 F k3 |24.09.09 36 F A¥H
RLAL BEA A4 0.0.0.0 | F 0000 | 312 3% [ 3m12 3| |2\ K 2% | 2mRIRG 2% | 2BEE 5
i 54.0 .172 JNIZ 0000 | FH0.003 |6  118EIE OA ks |9  138E12%E 8BA ks |7 BEBEO6A Ks[6  11EE8E 2A 4 (6 BE2BES5A W
4o |s97—xL—y R | BEFE KB 1186@® | #40.0.0.0 | FFE0.0.0.0 [ 402 +4 FHEK 54 @D | 308 -3 FEK 54 ©B@D | 401 -1 BER 54 GGG | 402 +1 BREA 54 @@ | 401 FHEAK 54 @®
(A2O547Y) K# 091 KB 1186@® | T4 0.0.0.0 | F550.0.0.0 | 1400m 4 B 1:33.9 41.2 | 1400m % # 1:34.4 43.3 | 1400m & B 1:34.5 42.9| 1200m & B 1:18.6 41.5| 1200m 4 B 1:18.7 40.8
BEKE [%]] 0005 [ %0002 240005 --©-@---[SSM 39.5-30.3 532 (10) | MMM 37.9-38.6 431 (11) | SMS 38.3-42.0 333 (6) | SSS 36.5-40.0 432 (8) | SSM 36.3-38.3 241 (5)
FIEE= 0.0.0.4 | 02050580 | £ 0.0.0.0 [ 428 000 1 [ # -2 773)(2. 1) #%EE | £11(5.4) HFEE |7 413 (1.5) FIBSE | MI7VT 4. 1)  HEE | kU {5(4.1) Sk
I(TUT5vva H3 |17 O: : . : | KZ00010 [F=00009 |2501.27 31 & K3 |25.01.14 33 ¥ K3 |24.12.25 28 ¥ K3 |24.12.01 24 & A¥# 24 11,07 25 E A3
ISwhFA b A #0000 [ F 0000 3% | 312 3 |2/ 11 2% | 2@A + 2% EN 2%
e 56.0 .043 JII40.0.0.0 | FrE0.0.0.1 |7 1288 4% 8A 9 1288 9F/IIA s |11 1288 3FHIIA 11 1138 210N W 12 145E14§14)\ Koh
5o |synyroLy HE | EFR K 1181@ | 4 0.0.0.0 | FE0.0.0.0 | 446 +3 {hERKA 56 D@ | 443 -2 fREKA 56 445 -4 fhIRK 55 449 +1 HBIRK 55 @O® | 448 0 HHE 55 (@)
HoF—HALUR) KF 000 X# 1181@ | T4 0.0.0.0 | F750.0.0.0 | 1200m & B 1:19.2 41.1 | 1200m & # 1:18.1 39.4 | 1200m & B 1:18.7 41.4 | 1400m & B 1:35.2 45.0 | 1200m & # 1:19.7 40.7
wosE [#]] 00010 [ %0002 |£4%00010 | - -® @ -0fSSS 37.5-40.4 213 (6) | SSS 36.6-39.9 135 (1) | SSM 36.7-37.5 421 (12) | MMS 36.8-41.2 331 (11) | SSS 36.6-39.4 122 (11)
EHES 0.0.0.4 | 05030580 | £ 0.0.0.0 | #28 0005 | §-yMW-9" (1.3) &% | y=9h74-pa(1.6) S5k | vhv7’ -2(4.5) 3k | 940h Fud¥-(4.7)  SiBE | wuivm-Ln@.7)  EE%
AT—FJOU Ry HI[ 15 A ::: | KZ0005 [F=00071 |2501.27 28 & K3 |25.01.14 29 ¥ A3t | 24.12.25 29 F A3t | 24.11.07 22 S A3 |24.10.18 30 ¥ KF
FSRF Y R—2 - T M4 0000 |[F 0000|3512 3% | 3m12 3 | 211 2% | 2WE K 2% | 2EREE 5
& < FINT~ 1560 .042 IS 0.0.0.0 | Fm0.0.04 |11 1258 8FIOA 13 133 3BIIA 9 1088 5% 9N 11 VIS O OA 4 |6 8O 0% OA
516| a2l snvzoTa B | lRA— KB 12000 | &4 0.0.0.0 | FFE0.0.0.0 [ 461 +1 ;TR 56 @D | 460 -3 ;T4 56 Q@@ | 463 +4 STE# 55 @O® | 459 +3 FERKE 54 DOG | 456 HHE 5 GO
(A—KHFa7) K3 128 KB 12000) | A 0.0.0.0 | F550.0.0.0 | 1200m &4 B 1:20.0 42.5 | 1400m % # 1:35.2 44.0 | 1400m & [ 1:34.8 41.4 | 1400m & # 1:36.7 45.4 | 1400m 4 B 1:34.7 40.9
29th77-4 [%]] 0005 [%0002 240005 ]| - -®-®--0|SSS 37.5-40.4 432 (11) | MMM 37.9-38.6 431 (13) | SSH 39.8-38.0 331 (10) | MSM 37.6-39.3 321 (11) | SMH 38.6-38.4 241 (4)
WEPA 0.0.0.3 | 305050580 | £ 0.0.0.0 | 258 0002 [ 4-yF M- (2.1)  EiB% | £414(6.2) HFEE | 1434(3.8) HEE | 1772v6.7) Mk | 1 5797(5.0) Sk
Ly FIZ7L0 2R 43 ;5 @ I ﬁjlqgro.o.o.l F=0.0.0.1 235:_01 27 31 & ﬁx;@ 21._1_%.30 R¥#
S N §440.0.0.0 [ F 0.0.0.0 REE
$I/INhT 50.0 206 )15 0000 | Fm0.000 |7 1438 TEIOA
5(7|at|4777usvtz B | it KB 1169D | 4 0.0.0.0 | FE0.0.0.0 | 466 FIHEIR 54 DD | 469 FnMK
(A—T>5 YY) KF* 300 KB 1169 | T4 0.0.0.0 [ F750.0.0.0 | 1200m & B 1:16.9 40.4 | 800m 4 53.7
BRI [%]] 0.0.0.1 [ 0001 |£40001 ] @ ---- SSM 36.5-38.3 531 (10)
&4/ 0.0.0.1 | #05£03£0580 | £20.0.0.0 | 4258 0000 [ 1y N -9 (2.1) %EE
IEAYR 43 iﬁ B ﬂ?g 0.0.0.1 | ¥=10.0.0.1 %_%%2?7%22 i ﬁxﬁ# 24.12.30 KH#
= B FE 70.0.0.0 | + 0.0.0.0 B 5
VT AR 54.0 100 JII% 0000 | F90000
8 N—kI—LK B | B KB 1970 | #40.0.0.0 | FE0.0.0.0
(F—IL KaqO—) K .067| KB 11970D | EH 0.0.0.0 | F550.0.0.0 n 4 $19.7 41,
B A S [#]1] 0001 [Z£0001 |£240001 | @ ---- SSH 36.5-38.3 111 (11)
ABE—E 0.0.0.1 | 05020580 | £ 0.0.0.0 | %28 0000 | I 9ybn' -4 (4.9) %K%EE
AX—F77L3aY T3 -~ B xgo.o,o.o F=0000 (750731 R
= o EHE 40000 | F 0000 | get
TWITNLT 7L |5 JII% 0000 | F69000.0
9 T—HrF T2z ER NS BH0.000 | FH0000 [487 AKiBE
(F2HHANAIN) R 132 EH0.0.00 | F70.000 | 800m & 53.2
#HA77-4 0.0.0.0 250000 [ -
HEB 0.0.0.0 | #05£02£0580 | £% 0.0.0.0
RRbI+—UT 43 —_— Z ﬂ7{3';‘0.0.0.0 F=0.000 | 250131 Rt 2401815 KF
- S i £0.0.0.0 | F 0.00.0 | FH e
FvoLA—A 56.0 183 %0000 | Frmo.0.0.0
1(10 Hyk—L 78— £ | utets 40000 | FH0.000 | 470 48 455 fERpE
(H9RT 4 T5R) K 300 FA0.0.0.0 | F5K0.0.0.0 | 800m 4 52.3 800m 4 52.5
$oN' X9UT77 0.0.0.0 250000 [ -
AR 0.0.0.0 | 3050320580 | £ 0.0.0.0
TATRA {RIEIF 3|9 B - | K000 |F=0001[2500.2718 & K3 |24.00.13 RFF
75U =—2 ETEE #540.0.0.0 [ F 0000 |3 #5 | &
Ed 54.0 167 JII%0.0.0.0 | Fm0.0.0.0 | 14 143HI13% 6A Ash
71 TrESY B | EE@& | KB 1220 50000 | FH0.000 | 447 %)IK 54 oWl 443 %
(Cherokee Run) K#* 136 KB 12220) | T4 0.0.0.0 [ F750.0.0.0 | 1200m & B 1:22.2 45.1 | 800m 4 52.7
HERE [£]1] 0001 [£0001 [240001 | @ ---- SSM 36.5-38.3 311 (14)
B ER 0.0.0.0 | 305020580 | £ 0.0.0.0 | 4258 0000 [ I yF -0 (7.4)  %£%EE
YT LRT 4= #3 [ 16 A [KF0002[F=0002[2501.1433 F A3 [2412.25 24 F KA [24.12.06 R
LyaAF e EHW M70000 [F 0000 | 3K12 | 2B 55 | BeR
J - 54.0 056 JI40.0.00 | Fm0.0.00 |8 1288 8FEIOA 11 1288 1% 68 &/A
8112| A [ L—CazzF—0 B | AR Kig 1181@®) | 5H4 0.0.0.0 | FH0.0.0.0 | 457 +9 HH 54 @O | 448 FEAE 54 W | 459 FEEZE
(hT/ ES549) K 132 XH 1181@® | X 0.0.0.0 | F750.0.0.0 | 1200m & # 1:18.1 39.4 | 1200m &% B 1:19.6 41.0 | 800m % 52.5
BB N [#]] 0002 [%£0001 240002 ---® -®fSSS 36.6-30.9 235 (1) | SSM 36.8-38.0 131 (1)
FirN=1:] 0.0.0.1 | #05£020i80 | £ 0.0.0.0 | $458 0000 | y=yy7+-pa(1.6)  5EsEk | 'y n{tn(4.8)  ZEksk
ERASISUEN 3 12@¥ I xgo.ovo.1 F=0.0.0.1 24.%;.%)2?5%33 F ﬁx# %45._1_%.06 Rt 24_1& 08 RF*
— = RS 34 0.0.0.0 [ F 0000 | 2 ] £ &1l
LT A9 LS54 54.0 219 %0000 | Fm0.0.00 |7 - 128 68 OA
813 SALEIVE F | ERN KE 1166Q | #50.0.0.0 | FF0.0.0.0 | 427 ZE 54 @@ | 444 BHEE 438 REEE
(84 L35 Ky s R) K# . 115| KB 1166@ | T4 0.0.0.0 [ F750.0.0.0 | 1200m & B 1:16.6 39.5 | 800m 4 52.1 800m 4 -
P53 [%]] 0.0.0.1 250001 [ +orenn @| SSM 36.8-38.0 432 (9)
A&HE 0.0.0.1 | 305020580 | £ 0.0.0.0 | 758 0000 [ E' vy n{rh(1.8)  Eks%
K34 — k- 1200mE8 F A (SEEHARY : 2023.02. 15~2025. 02. 14)
33 B¥4a HERS 1%/ 2%F 3&F @& BE ExtE 44 BF4 HERSK 1% 2% 3F &S &3 ExE
1 XB#R 445 123 84 40 198 0.276 0. 465 13 i 460 21 30 28 381 0.046 0.111
2 wIR 451 105 64 65 217 0.233 0.375 24 IEH 178 712 11 142 0.039 0.107
3 AIME 392 65 34 34 259 0.166 0.253 28 ETHE 172 6 6 14 146 0.035 0.070
5  EEX 432 41 43 41 307 0. 095 0.194 33 213 4 13 16 180 0.019 0.080
1 R 41239 37 40 296 0.095 0.184 47 182 2 5 7168 0.011 0.038
8 ESEE 477 38 45 50 344 0.080 0.174 67 23 1 0 0o 22 0.043 0.043
9 BEEZE 469 37 51 36 345 0.079 0.188
K34 — 1200miB % 55 R (SEEHHAR : 2023.02. 15~2025. 02. 14) BER 3 HE MR
|[:to3 EHESA HERS 17& 2% 3/ &HH BE i 9 @ (%& 1 2 3 45 6 71 8
1 IRART—LLF— 312 40 32 24 216 0.128 0.231 F (3FME) 21 22 22 21 20 21 20 20
22 261 38 27 19 182 0.126 020 0 _____
3 214 27 20 23 144 0.126 0.220 7 ® RAIEG
4 200 26 22 23 129 0.130 0. 240 & @ KITHEST (534, 544) 3 s
5 p 254 23 25 20 186 0.091 0189 __Z__ g{g%b Eﬁ%ﬁ gggg ? sk
6  YCIRFAVIILFYT— 188 21 21 m 135 0.112 0.223 \ *
7 E-=y 188 21 14 16 87 0.152 0.254 g % BLAG (335,245) 3 ek
8 q4mO 215 19 15 13 168 0.088 0.1 = _____
9 LYHIRFYRFL 93 19 12 15 47 0.204 0.333 %
10 Foory/FuF 17318 14 13 128 0.104 0.185 5 ©60®

BEERT 0. HHORERZ. HEWH. BFEEGE. INTERBRTOUBREBELTTFSL,
2025%2A178 X# R ARBINE3R+= += +®@ Y5 Ty FHR 3% BIE 120m ¥—+~-FH 5 FENOOEW, BEHERLET,



